_ NAME DATE PERIOD

Reading to Learn Mathematics
Proving Segment Relationships

Pre-Activity How can segment relationships be used for travel?
Read the introduction to Lesson 2-7 at the toi) of page 101 in your textbook.
o What is the total distance that the plane will fly to get from San Diego to
Dallas? \ G J) 0O VV\/‘{_ |
e Before leaving home, a passenger used a road atlas to determine that the

distance between San Diego and Dallas is about 1350 miles. Why is the
flying distance greater than that?

~
o~
i Do Problema | & 2 only o
Reading the Lesson v
)
1. If E is between Y and S, which of the following statements are always true? B 6: -
A.YS +ES =YE B.YS -~ ES =YE :
'C.YE > ES D.YE -ES =YS
E.SE + EY = 8Y - F. E is the midpoint of YS.
2. Give the reason for each statement in the following A

: two-column proof. L
. O Given: C is the midpoint of ?2
:'— D is the midpoint of CE. . B E

Prove: BD = CE ¢ b

Statements Reasons

1. C is the midpoint of BD. 1. 1\

2.BC = CD 2. et of midipoun T

8. D is the midpoint of CE. 3. (e '

4.CD = DE 4. Def of  udpoundt

5.BC = DE : 5. TYanNSthi e Py o of Lo

6.BC + CD = CD + DE 6 Addifion Pum.

7.BC + CD = BD 7. Seannont  Addution
CD + DE = CE - Dosh

8.BD = CE | 8 AU _.l.;J‘l'%’n'J\' U o0

9, BD = CE 0. Dot Of 2 SCammonS

U

Helping You Remember

8. One way to keep the names of related postulates straight in your mind is to associate
something in the name of the postulate with the content of the postulate. How can you use
this idea to distinguish between the Ruler Postulate and the Segment Addition Postulate?
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